From:  Bill Childers, Chief Architect, Technical Architecture Team

Subject:  Suggestions for the Technical Architecture's quarterly presentation.



In the spirit of this mornings quarterly meeting and in preparation of our
own, I offer the following questions for our own version of the game show, Who Wants to Be a Millionaire:

We should use IBM’s Websphere because:
A.  It’s object oriented.
B.  It’s the standard.
C.  It’s better than goose poop.
D.  If I learn it, I can get a better job.

Websphere is key part of the new architecture, but what is it?
A.  The creation of a spider on LSD.
B.  Middleware that supports CORBA and EJB standards.
C.  Goose poop.
D.  A new, warm and  friendly "culture."

What is CORBA?
A.  A poisonous snake.
B.  A big-hearted Greek fellow who loves to sing and dance.
C.  A standard for distributed object middleware.
D. The Greek word for goose poop.

What does EJB stand for?
A.  MYOB.
B.  Enlarged jelly beans.
C.  Enterprise Java Beans.
D.  A French acronym for goose poop.

What is Java?
A.  A programming language.
B.  Another word for coffee.
C.  A marketable skill.
D.  An island with no geese, but many chickens.

Why should we learn Java?
A.  Indonesia is one of the most populous countries in the world and an
important trading partner.
B.  So other companies will hire you.
C.  So the programs we write with it will work.
D.  If we don't, we'll have to shovel goose poop instead.

You refer to Websphere as "middleware", but what does that mean?
A.  Clothes for people over 35.
B.  Clothes you put on to cover that bare midriff so your manager doesn't
send you home to change.
C.  Software that controls how other software and systems interact.
D.  Something that is not too soft(ware) and not too hard(ware)

Is that your final answer?

